SHELE | BRI [ mxorsa | ||BE 129
B
F 0 # A 16 =
| | L6240 RRAMBE MALTHODIETEEHB L
m 2) 16 24 ReHSNLEEK, [2-2-2]
2) 8 12 |BEAKKBE INSOBEFTRNTIHNILRBLENS
LW ~ & o7 2) 4 6 |_2X2X2J:|_8J
B <72 2 3 162240 R AKEEL [8]RRBL

AL THOYVE (O2F) ZE>T. () DFOBDBEARANHEDHED KD 11054]

(1) (28 -42)

)

2XT7=14
A

(5) (35-21)
7) 35 21

5 3

wiT

(9) (40 -24)
2) 40 24

2) 20 12

2) 10 6

5 3
2Xx2%x2=8

Hi 8

(13) (27 - 81)
3) 27 81

3) 9 27

3) 3 9

1 3
3x3x3=27
B2 27

(2) (6-18)

2) 6 18

3) 3 9

1 3
2x3=6

%z 6

(6) (66 - 88)

2) 66 88
11) 33 44

3 4
2x11=22
Hr 22

(10) (36 - 84)
2) 36 84

2) 18 42

3) 9 21

3 7
2x2x3=12
Hr 12

(14) (100 - 250)
2) 100 250

5) 50 125

5) 10 25

2 5
2X5%5=50
%z 50

(3) (18 -63)

3) 18 63

3) 9 21

3 7
3x3=9

Bz 9

(7) (26 - 39)

13) 26 39
2 3

HZ2 13

(11) (28 - 140)

2) 28 140
2) 14 70

7) 7 35
1 5

2Xx2X7=28

%z 28

(15) (156 - 234)
2)156 234

3) 78 117

13) 26 39

2 3
2x3%13=78
%2 T8

(4) (10 -50)

2) 10 50

5) 5 25

1 5
2x5=10

%z 10

(8) (16 - 36)

2) 16 36
2) 8 18
2 9
2x2=4
%2 4

(12) (35 - 56)

7) 35 56
5 8

HrR T

(16) (595 - 255)

5) 595 255
17) 119 51
7 83

5x17=85
%z 85

©#FIZ®ch @ misonya.com




SES (|8 R!)IL | sxoaws- E 159

R
F O A 30 =
RODBBODFETBEE. ANBTHODTHFLELED 1014
(1)J£i = (2) 6 _ 2 (3)-£— = —l-
63 9 3 8 2
(4)1—L (5) 4 _ 2 (6)£—L
32 4 10 5 56 4
(7)551 = —l— (8) 89 = L (9) jji = —l-
99 3 70 2 54 3
(10) L = L (11) 3 = L (12) 2—4 = i
49 4 15 5 60 5
(13) i = i (14) 6 = 2 (15) i = i
36 9 45 15 24 8
(16) i = i (17) 12 = 4 (18) & = i
27 9 21 7 24 6
(w)lji'—-J— (20) 82 _ 4 @w-lz-— —L-
90 5 72 9 34 2
(22) ﬂ = i (23) 63 = S (24) ﬂ = L
63 3 84 4 110 10
(25) E = i (26) 21 = S (27) Q = L
96 8 70 10 81 9
65 5 48 3 69 3

04~ 8 ) 80 T 5 W92 T 1

©#FIZ®ch @ misonya.com




s

st R [ Exowss |||BE 129
R
B -7 = 12 ]

HALTHOYVE (O2F) Z#E>T. () DFOHDBERANHEOLED KD 11054]

(1) (8-16-24)

)

2x2x2=8
%z 8

(4) (56-84-140)
2) 56 84 140

2) 28 42 70

7) 14 21 35

2 3 )
2X2X7=28
%% 28

(7) (60-24-72)
2) 60 24 72

2) 30 12 36

3) 15 6 18
5 2 6
2X2X3=12

Kr 12

(10) (180 -90-315)
3)180 90 315

3) 60 30 105

5) 20 10 35
4 2 7
3X3x5=45

%z 45

(2) (6-24-30)

2) 6 24 30

3) 3 12 15
1 4 5
2X3=6

%2 6

(6) (22-110-154)
2) 22 110 154

11) 11 55 77
1 5 7
2x11=22

HR 22

(8) (560-210 - 350)
2) 560 210 350

5) 280 105 175

7) 56 21 35

8 3 5
2X5X7=70

“#z2 70

(1) (78 - 54 - 36)

2) 78 54 36
3) 39 27 18
13 9 6

2x3=6
%2 6

(83) (8-16-24)

2) 8 16 24
2) 4 8 12
2) 2 4 6

1 2 3
2x2x2=8
%z 8

(6) (21 -42 - 84)

3) 21 42 84
7) 7 14 28
1 2 4

3x7=21
Hr 21

(9) (132 -96 - 144)

2)132 96 144
2) 66 48 72
3) 33 24 36

11 8 12

2X2%x3=12

HrR 12

(12) (304 - 152 - 532)

2)304 152 532
2)152 76 266
19) 76 38 133

4 2 7
2x2x19=76

B2 76

©#FIZ®ch @ misonya.com




	MS_5_keisandrill_05_kouyakusu_1A
	MS_5_keisandrill_05_kouyakusu_2A
	MS_5_keisandrill_05_kouyakusu_3A

